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Attempt Five questions in all, cheoosing at
least o questions from each Section.
All questions carry equal marks.
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Section A
@uE ‘3H)
If saving s always equal to iovestment. in what sense
is saving mvestment equality a condition for equilibrium
Explamn.
Given the consumption tunction as C - 100 - 6.6 Y

derive the corresponding saving function and compute

the value of saving when income Y = Rs. 800 cr.
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Explain the process of investment multiplier. What condirions

are required for the working of investment multiplier in an

underdeveloped economy 7



(3 ) 4359
faw 7w w5 syl w1 wrem wifsu
SeUfaRTan seferEeer § faw e ® wrdvie 2R
& for fa vl &) savawar @t & 2 T wifT

(@)  Define money. Explain its various functions:

(h)  Distinguish between money and near money.
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With the help of suitable diagrams, distinguish between
*demand pull inflation” and “cost push inflation’. Do you agree
that deflation is more harmful than inflation ? Give reasons.
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Explain the following :
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Keynes' Psychological Law of Consumption;
Paradox of Thrift.
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Section B
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Why should a Commercial Bank be concerned about

tiquidity ?

 Which assets are the bank's major source of

profitability ?

Is there a conflict between the profitability and tiquidity

of a bank ?
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(«) Discuss the main functions of a Central Bank.

(b)  Explain briefly the developmental functions of Reserve

Bank of India.
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Distinguish between impact and incidence of a tax.
Explain the incidence of a unit-tax on a commodity under

perfect competition with the help of elasticities of demand and
supply.
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What are the objectives of monetary policy ? How is the
objective of price stability achieved through it in a developing

economy ?

P.T.O.
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10.  Write short notes on :
()  Characteristics of a good tax system:

(i) Causes of rising public expenditure in India.
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